
Battery Case for SM-BTR2

SM-BTC1

S
T
-6

7
7
0

S
T
-6

7
7
0

1 Y7GB00100 Battery Case

2 Y7GB00300 Junction Spacer

3 Y7GB98040 Mounting Bolt (M3) 2 pcs.

4 Y7GB98010 Cap-A & Nut (M3)

5 Y7GB98020 Cap-C, Nut (M3) & Cusuion-C

6 Y7GB00810 O-Ring

7 Y6VE15000 Dummy Plug A

8 Y7GB98030 Mounting Bolt (M5) & Washer

9 Y7GB01200 Cushion-B (BT)

* 10 Y7GB02000 Electric Wire 270 mm

A: Same parts. Jan.-2015-3808A

© Shimano Inc. H

Absence of mark indicates non-interchangeability.

Specifications are subject to change without notice.

S
T
-6

7
7
0

INTERCHANGE-
ABILITY

B: Parts are usable, but differ in materials, appearance, finish, size, etc.

CODE NO.
SHIMANO ITEM

NO. DESCRIPTION

8

3

1

6

7

9

10

4

5

2

SM-BTR2


